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| 1st Month, 3rd Week, 5th Day | Sub-domain II1. Exercise 1.8 Q#1,2

Q.1. Choose the correct options. (0.5x 6=3) -/ /':..«B:'ll(..._«lﬁwu

(i) The square root of 2 up to 3 decimal place is:

e G 21 (54031006 2
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Q.1. Choose the correct options. (0.5x 6 = 3) -q’/h,«l‘s:'l(.,«lzuj)

(i) The square root of 2 up to 3 decimal place is:

e g S SH3 4 K2

@@| 1411 |®)| 1412 |@©] 1413 |@] 1414

(ii) The square root of 2.5 up to 2 decimal place is:

e Lo JBFISR1210g K 2.5

@@| 1411 |®| 1412 |@©] 1413 |@| 1414

(ii) The square root of 2.5 up to 2 decimal place is:

te L SN SH12.06 2.5

@| 156 |mw| 157 |©@| 158 |@| 1.59

(iii) What is the square root of 3 up to 3 decimal place?

?‘Llj/y@/lﬁ’-"dhi’uk{3

@| 156 |m| 157 (@] 158 |@| 1.59

(iii) What is the square root of 3 up to 3 decimal place?

fe l;'i.«@/lﬁ’-"dh&lg K3

@| 1731 |®w| 1732 |©@| 1733 |@| 1.735

(iv) The square root of 28.9 up to 2 decimal place is:

e Loy B 5K1246 28.9

@| 1731 |®w| 1732 |©@| 1733 |@| 1.735

(iv) The square root of 28.9 up to 2 decimal place is:

e Loy JBFISX12.10 6 28.9

@| 547 |®w| 530 |©@| 537 |@| 539

(v) The square root of 63.34 up to 2 decimal place.
e Lo JBFI 5H12.J0 6 63.34

@| 547 |m| 530 |©@| 537 |@| 539

(v) The square root of 63.34 up to 2 decimal place.
e Lo JBFISK12.1J0 6 63.34

@| 795 | 79 |@©@| 797 |@| 7.98

(vi) What is the square root of 11 up to 3 decimal place?
?‘Lgbﬁ.,/wlu’};f3/jegll

@| 795 || 79 @] 797 |@| 7.8

(vi) What is the square root of 11 up to 3 decimal place?
S b /215203 10 K 11

(a) 3.417 (b) 3.217 (c) 3.317 (d) 3.117

Q.2.Find the square root of 921.25 up to 2 decimal places. (1x2=2)
P e 52 i K 921.25
Q.3.Find the square root of 21 up to 3 decimal places. (1x2=2)
-u.:/"/’)‘”u@/widlf&lg K21
Q.4.Find the square root of the following up to 2 decimal places.
6.4 (i) 5921.25 - S o502 0 6L 5T

(a) 3.417 (b) 3.217 (©) 3.317 (d 3.117

Q.2.Find the square root of 921.25 up to 2 decimal places. (1x2=2)
S e 524 K 921.25
Q.3.Find the square root of 21 up to 3 decimal places. (1x2=2)
-Q/‘r')l’”u@/wldhi’ulg{Zl
Q.4.Find the square root of the following up to 2 decimal places.
6.4 (i) 5921.25 - b Bo1502, de 6Lt 5T



